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MASTER OF ARTS (ECONOMICS) 
pr 

Term-End Examination 

December, 2012 

MECE-001 : ECONOMETRIC METHODS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any two questions from Section A and any five 
questions from Section B. 

SECTION-A 
1. 	Consider the following regression output : 	20 

A 

Yt  = 0.2033 + 0.6560 x t 

Se = (0.0976) (0.1961) 

R2  = 0.397 RSS = 0.0544 

ESS = 0.0358 
Where, 	11= Labour Force Participation Rate 

(LFPR) in 2010 and 

X = LFPR in 2006 

The regression results were obtained from a 
sample of 19 clusters in Mumbai. 

(a) How do you interpret this regression 
output ? 
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(b) Test the hypothesis : 

Ho  : 132 =1 against 

: p2>1. Which test statistic would you 

use and why ? 

(c) Suppose LFPR in 2006 was 0.58 (or 58%) ; 

on the basis of the regression results given 

above, what is the mean LFPR in 2010 ? 

Establish a 95% confidence interval for the 

mean prediction. 

(d) How would you test the hypothesis that the 

error terms in the population regression is 

normally distributed ? Show the necessary 

calculation. 

2. Define multicollinearity and explain how does one 20 

detect it ? What measures can be taken to alleviate 

the problems of multicollinearity ? 

3. Explain the underlying ideas behind the logit 20 

model. 

Explain on what grounds logit model is an 

improvement over linear probability model ? 

4. What is GLS ? Why are estimators of GLS 20 

BLUE ? Explain the mechanism of estimating 

parameters of GLS. 

MECE-001 	 2 



SECTION - B 

	

5. 	What is meant by heteroscedasticity ? What are 12 
its effects on the following ? 

(a) OLS estimators and their variances. 
(b) Confidence intervals. 
(c) The use of t and F test of significance. 

	

6. 	Let p
YX 

and p
XY represent the slopes in the 12 

regression of Y on X, and X on Y respectively. 
Show that 

A 	A 

PYX 13XY =r2 

Where, r is the coefficient of correlation between 
X and Y. 

	

7. 	What do you understand by partial adjustment 12 

model ? How is it different from dynamic 
models ? 

	

8. 	Consider the following model 	 12 
Yi = R1 + p2D2;  + 133D31  r.34(D2iD3i)+ p5xi  
Where, Y = annual salary of a professor 

X = Years of teaching experience 
D2  =1 if male 

=0 otherwise 
D3  =1 if white 

=0 otherwise. 
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(a) The term (D2iD3i) represents the interaction 

effect. What does this expression mean ? 

(b) What is the meaning of 134  ? 

(c) Find E(Yi/D2 =1, D3  =1, Xi) and interpret 

it. 

9. Explain various methods of estimating the 
	

12 

autocorrelation parameter P and in the AR(1) 

scheme. 

10. Explain the Koyck approach to distributed lag 12 

models. 

11. Explain the Hausman specification error test for 	12 

testing the simultaneity problem. 

12. Consider the following demand and supply 12 

model for money. 

Demand for money : mdt  = a0  + alYt  +a2Rt  

+ et3pt  + ui t 

supply of money : Mt =130  +131Yt  + u2t  

Where, M = money, Y = income, P = price and 

R = rate of interest. 

Assume that R and P are predetermined. 

(a) Is the demand function identified ? 
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(b) Is the supply function identified ? 

(c) Which method would you use to estimate 
the parameters of the identified 
equation(s) ? Why ? 
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ooi 

7117. ( aTOrrF4 ) 

t-1=41.c1 trftalT 

f4-1:11z1T, 2012 

711.4.4-4-001 : 3T2tftri-9-  fa-rEpTI 

F177 27 : 3 Fiu - 	 37-firw-d-q 37 : 100 

*F: 	9177 	 30 91T -1T 	 cifw.77-4 

drtt Orui 	I 

14-fr-2 

1. 	F-14--Iror(gcr w-113Tzrur ri4d TR f-q-qR 	 20 

Yt  = 0.2033 + 0.6560 x t 

Se = (0.0976) (0.1961) 

R2 =0.397 RSS = 0.0544 

ESS = 0.0358 

vial Y = 2010 1 371 	TEPTIfTTT 

(R- .T-1-).111.3-11T) t 

	

X =2006 14  	t I 

TITITT:FT 4rtutl1.i cI1 Tr 7, 11* 1419 	ii (clusters) 

(a) 	TT i-14-1INZ117 r-14d 	02.11tSql 31Tuf 	cbk 
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(b) 4 	R4).1r cf-)r 4 t1 tUT 	: 

Ho  : [32 =1 *1-  

: 132>1. 1 A ,-19-crr 	chi al-rcr TAT 

? 

(c) 4-11-1 1113l 	 rch ci 2006 Ti 	1.k"-11.1t.317. 0.58 

(TUT 58%) zft ; 	1-q 	TITFEWful 4Ru114-11 

311417 T{, qri 2010 14 TWA. 	 'q=?;11.  

t ? .14T 2j1 5Pjfchl (prediction) t Fri 	 95% 

FoRaR-Icil 3-f-d7Tf T-2.1frEM 	I 

(d) 3117 	 LIRcf->C44•II abI LI-171t14 	rch 

AiTrwurir 

	

	Ard. 	SINIHI.4 ,co-r 

yRcbol 

2. (1c1 I ch -cfft-TIR17 'Wl-nR-R 31 -q-cri7 wlf4R 	ch 7TW1 20 

LIcir 

	

	 t? .qUftUffT 0111 ATR7rT 

ztrr7)[ 31-cr-l-r4 

3. cilrle. (logic) +-1150f*-9' ffi-qt 	31fg 	t? 
	

20 

-w1-'R7I 	r f*-4 31m-{ 	 Hiso, 

	Hiso *-d-T t ? 

4. 3-1 	 (GLS) iiii t? X11 0c-1 0  -1 	 20 

BLUE T:1) ? ,T11 	71-q0)' oh) 3-11-TM7 

t auk 
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IT IT-13 

	

5. 	feu 	41131-N7m t? i 	i f csi f za 7-1-{ 	12 

31-IT4 t? 

(a) 311.r(.rt-1. 3TTW-0--- i 3 	-1;4.) 

(b) FoRcIR-qc11 3-td7F 

(c) t T-1-) 	 -37171)-7 

	

6. 	11-Tff riWzR Ayx 	pxy, 	via-TY 34 Y ITT X 12 

-11-11 3A-ziuT 1 (slopes) t 

Iii. 

A A 

PYX PXY =Y2 

r, X 31t{ Y 	(-1-1012T-11uTtT tl 

	

7. 	 4-1150 	3Trcr  	t?  	12 

+k-qiclich f9-q711 (dynamic models) 	f f t? 

	

8. 	ForOcl 	 fq1R t1f--4R : 	 12 

Yi  131  +132D2i +33D31 + [34(D2iD3i) + 135x;  

Y = tkt17 tr arrit -t-d9 tI 

x =fqR-Tur-3T-TTq t .14 *1 

D2 =1 74fq 

=0 31-P42.11 

D3=1zifqic  

=0 31411 
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(a) (D2iD3i) 	r*TIT 'JIM. 	t I 	 

31f rr~cr chi 4,-41 3421 t? 

(b) R cbr cf-A I 342i t ? 

(c) E(Yi /D2 =1, D3  1, X1 ) cnr 411 

oqH.sql 

9. AR(1) z1tq91 44 	P oh 3-17*-Th-ff -74 4 	12 

fafaq fq-Nt chi -q-crfi 

10. -qf-a-ff 	+-115M 	 (Koyck) 	411 1 4-1 	12 

chi qui-ff 

11. , -1 4-1 oh I Fri oh clTITITEIT oh tE-TUT 	rc-1 *Al' 	12 

(Hausman) fqf-9- 7T rz 	for cf Vk 

12. F-1 4-1 	 4-1150 4t rol -oiR 	12 

4 H141 : Md =cYii +a-I Yt +a2Rt  

a3Ptult 

i 3-171T4 1\4; = PO + Yt u21 

m = qff, Y =3-17f, P = q>lriTff 	R 

	 R *P11-4f9.41#ff 
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(a) X11 4-1I' 41(11 3TrifitTRU t? 

(b) 	I 3-TrIf4 Lbrii 3-1-54f9-41f7ff (identified) t? 

(c) 3Triti4iThd ki 4-114)1(1:4) 

*raTricrOTftfqfqq-d -srzn-Tr431--tz4? 
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